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Trigonometric Relations 

Multiple Choice Question 
1. [13-14 Standardized Test 2] 

It is given that 
3

7
tan   and   is an acute angle.  Find the value of  cossin  . 

A.  
29

5
 B.   585  

C.  
29

58
    D.   

29

585
  

2. [13-14 Standardized Test 2] 
In the figure, find BC. 
 
A. 1 

B. 3     

C. 13   

D. 232   

 

3. [13-14 Final Exam #12] 
 Which of the following is false? 
 

A. 
θ

θ
θ

sin

cos
)90tan(    

B. θθθθ 23 cossinsinsin   

C. θθθθ tancossincos1 2    

D. )90(sin)sin1)(sin1( 2 θθθ   

 
4. [13-14 Final Exam #23] 
 In the figure, find the area of quadrilateral ABCD. 
 

A.  33   cm2 

B.  93   cm2 

C. )]33(3[   cm2 

D.  335.1   cm2 

 
5.  [13-14 Final Exam #29] 

In the figure, AC bisects BCD.  Find x. 
 

A.  6  B. 9  

C. 10  D. 36  
 
 

6. [14-15 Standardized Test #5] 

45  

4 

A 

B

C

D32  

cm 3  

A 

D 

45º 
C B 

30º 

x cm A  D 

C B  cm 39  

30º 
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 In the figure, cos  =  
 

A. 
4

3

.
 

B. 
3

4

.
 

C. 
34

343

.
 

D. 
34

345

.
 

7. [14-15 Standardized Test #7] 
 ∆ABC is a right-angled triangle, where 

tan∠BAC = tan∠ABC. Which of the following must be true? 
 I.  AC = BC 

II. AC  BC 
III. sin∠BAC = cos∠ABC 
 

 A.  I and II only   B.  I and III only 
 C.  II and III only   D.  I, II and III  
 

8.   [14-15 Final Exam #14] 
 Which of the following is/are an identity/identities? 
 

I.    sin2sin   

 II.  222 sincos45tan   

 III. 






cos

3cos3
cos 








 

 

 A. I only    B. II only  
 C. I and III only   D. I, II and III 
 

9. [14-15 Final Exam #15] 
 The figure shows a part of a contour map. The map is drawn to the scale 1 : 15000 and the 

length of PQ is measured to be 1 cm on the map. The gradient of road PQ is  
 

 A. 
300

1
. 

 B. 
3

1
. 

 C. 3. 
 D. 300. 
 
10. [14-15 Final Exam #23] 

 
 









45tan

90cos

30sin

60cossin
2


 

 

 A.  sin .     B. sin2 . 

A 

5 cm 

3 cm  B C 
α 

300 m 

250 m 

200 m 

P 

Q 
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 C. sin3 .     D.  cossin2  . 
 
11. [14-15 Final Exam #25] 
   In the figure, sin  
  

 A.  –1.   

 B. 
2

1
. 

 C. 
2

3
.   

 D. 1. 
12. [15-16 Standardized Test #4] 

1 2

tan sin(90 ) cos  
 


 

 

A. 2. B. 
3

cos
. 

C. 2

sin 2cos

cos

 



. D. 

cos 2sin

sin cos

 
 


. 

  
  

13. [15-16 Standardized Test #7] 
 If a and b are acute angles such that  90ba , which of the following must be true? 
 
 I.  sin cos(90 )a b   

II. 
sin

tan(90 )
sin

a
b

b
   

III. 2 2sin cos 1a b   
 

 A.  I only 
 B.  II only 
 C.  III only 
 D.  None of the above   
 
14. [15-16 Standardized Test #8] 

In the figure, BDC is a straight line and  45BAC . Find BD. 
  
 

 A.  ( 3 1)x  
 B.  x 

 C.  3 x 

 D.  2x 

 

15. [15-16 Final Exam #9] 

 Find the acute angle  in 
sin

15cos
75tan


 . 

4 
2 

θ 30 

2x 

A

BC D x 
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  A. 15  B. 45  
 C. 60  D. 75   

 

 

16. [15-16 Final Exam #20] 

 Simplify 
     




45tan

cos90cossin90sin 
. 

  

 A. –1 B. 1 

 C. tan  D. 1sin2 2   

 

17. [16-17 Standardized Test #6] 

 80sin...30sin20sin10sin 2222  
     
A. 

4.  B. 4.5. 

     
C. 

8.  D. 8.5. 

 

18. [16-17 Final Exam #9] 

  





tan

)90(sin)90(cos
 

A.    sin .  B.    cos .                 

C.    2sin .  D.    2cos . 
 

 

19. [16-17 Final Exam #10] 

  222 costansin1   
   

A.    2tan .  B.    2cos .                 

C.    2sin .  D.    1. 
 

20. [17-18 Standardized Test 2 #6] 





45sin30cos

30tan
 

 

A. 
9

34
. 

B. 
3

22
. 

C. 22 .    

D. 62  . 
 
21. [17-18 Standardized Test 2 #7] 

In the figure, find the area of the quadrilateral ABCD. 
 

A 
D 

45º 
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A. )432(  cm2 

B. )1232(  cm2 

C. )1236(   cm2    

D. )2436(  cm2   

 

 

22. [17-18 Final Exam #8] 
2

sin

1

tan

cos






 




= 

A. 1. 

B. 2sin . 

C. 2sin .  

D. 
2sin

1
. 

 

23. [17-18 Final Exam #19] 

Which of the following are correct? 
 

I. 
θ

θ

θ cos

sin

)90tan(

1



 

II. θθθθ 23 sincoscoscos   
III. θθθθθ 22242 tancossincoscos21   

 
A. I and II only 
B. I and III only 
C. II and III only 
D. I, II and III 
 

https://www.study-together.com/edu/


